5. THIRELA Sl R E 2

A y=x« B.y=e"+x C.y=In(2x+1) D.y=x"+1
6. 5 a>b>1, M|

A. log%a>log%b B. log,a>log,b

C. Iog, %>10g2 % .10;2a>10 g12 .
7. H& v—y-3=0 5 x—y+3=0 Z[A| [ IEE N

A.642 B.6 , C.3/2 D.2/2
8. AL 3 A R 4 ANERPEE3 A4S, X 3 NBR A BRI R BGE 5

A2 Ff B.3 Ff C.4 Fh D.6 Fh
9. BAIR A(1,0),B(~1,1) ,EHLK kx—y-1=0 5HL AB ¥47, M k=

Al B. % C. —% Tk

10. B A(1,-3),B(0,-3),€(2,2) , | AABC TEFR>

3 5
A. > B.2 C. 2 D.3

2 2
lLBﬂﬂ%%%%#IM%ﬁﬁﬁ&Mm=

A.4 B.2 C.1 D.;
12. FHIBRBCH AL (0, 7) IR 2

A.y=5sin x B.y=In(3x+1) C.y=x+1 D.y=4-2«
13. BRI cos x=3-, HL x 85— RBRAA ] sin 2v=

12 18 4 24

A.25 B.25 C.? D.25
14. RER 1x-21<]1 HRER

A {xll<x<3} B. {x|-1<x<3}

C. {xl-3<x<1} D. {xl-2<x<1}

15. % pix=1;q:4°-1=0, 1]
A.p & q BT SRR B S
B.p 12 q MISEARPHER RIS £ 1
C.p & q MmELM

D.p BEAR ¢ BIFEA SRR q BB S
19



